Exﬂmf - . oF Hedk m(fjlcu\%%dn" Mes¥ Bpsie Clevlahon

Moo Many Kenl oo o needd +o give o 3955 1,0
do rRis¢ Fhe #emf{_m%‘um Fromm Y1 5°¢ 4o 22.87C 4
sy MO
m = BLMC;M‘J’
Tfﬁ: L. 57¢
’?};ﬁ'« Fi.8¢C
AT = "};«w Te= F38¢-9/6"¢ = 32.3%

C = laooawi
PR
/_‘]H:: mwﬂf* e

i

| {B‘fg )(32_32){/.00%4-)
7 =
= /-f/%’xtogcg! sliseal )z /14 kEeal
1200 ca r’_{_’
A

Srac< QM s feos”rf}‘)icalmmﬂs vt _ %

ab S'»”’énf-g. enc 5“53‘ S
S\JS"HUG IS_;:’::-"‘PJI:qﬁfﬂﬂqizg?'j
34 ';&Hbo
T = ‘f],'gp‘:

T
T = F3.€8°¢
AT=T-T,* 38 C-Y15¢c=32.3¢C

C-zl\ﬁoC,,n{

—r——

8;'/_
aﬁf -
(345 22.30("°%t ,;I’éif) /.09 Ferl
? ‘ 5‘/'%5( S e



